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BODO (ELECTIVE)

Full Marks : 80

Time : 3 hours

The figures in the ^margin indicate fiiill marks
for the questions

Answer in Bodo ; r

1. ^ ^19# 1^ : 1x10=10

(^) lik?

(^) -qncfsn^ ^
4>|c|v»||̂ PlibW <|c|y)d,WWW ,

(n) ^ -ptf^

(T^r) w.' ^

(^) 'pi ikiRR' TijRsn^.

(^) iiiigwR 3Tn| i^\ ,

(l5) *§<.«s«iR 'Xakrfk* HWf ih)y|c|<^HHR
^5fRk?kT? :,.

(^) wiRf^ kkjfi^? '

A15—5000/290 ' J Tli^ )



( 2 )

(^) 'aTRTft' ITT yiclMlH

(^) 3ihi()^i ^ TRT^Tafr^ ^{sn^ sn^ t^TRhrhr?
, . • , . ..1c '

2. : 2x5=10

W 3TFFOTT hI^I^iO 4)|c|« |̂̂ R.
Wni^ "qhwri

(^) ^iflnT ^stftr ^ ^nW¥nft.
^ ^ #FRT^ 1^1 _

(n) -qn^grFn^ HI^( '̂iv»1I^P ^T?n

(^) "3flri ^ 3R smik ... 3Tm!
^ 1^!^ «rii^i'' t ^rai# ^

(^) ' Mr iwmtr t
, ^5n?ni#r #c smt

IT, ' '»*

3. "mw^ ihrmM vhrarf^ 1^ :
4x5=20

W 'HiRaM>iQ| 3TRr #T8IT ^
1^1

(^) M ^ f^iPiHiiiR ^fFT%

W TRR Fkf^T^nFiR Tfi^
BRR ^ #R|
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( 3 )

nl'siiPi mTI^hnhn i" ^T?n^

(^) smf^ Pii^Hi^ 1^1 -

(^) *3TRnft' 4>HV4I^R A«dlP^ 371^ ^HFTI^ ^
1^1

(^) "371 TTT^ %I5r fRft^TT -ptfer
3^ ^flf^ ^5^ 371^ SIFim qr^r %

(W) TTo qn-lR ^HWPl

4. #TPI ^t1^ to # : 10x4=40

(^) toFT 3F^|«n^
l^torAtoi

l^oll

^peTT^ gnFTR FT FT thitFf^ FITFFl?
^5n^ ^4^1<P FTFTF Fto M^1<MW[^T to I

(^) 7§ftoTFR 3mt 3TTIR^frf^ qfto
37Td Franto toiF f^toT toft#
FT T^Nt tiwtif tol

A15—5000/290 (^irnQver)



( 4 )

'm^ 3TT^ #RT^
mm ylHKHW r mxuit 4>|c|vyi^Pi ^M^NN^ail
Pli^W11^1

(n) Tri;^ 4hmniR i^ncr«iT^

1^1^< 1

1##' q>ici^i^Pi ^HNPi '^tmi
1%35Tt ^ #RT ^gpR I

W 1^r3^
^n?n# wsn#

* i ' • :;v 7

"3TRKmi^ ^ ^IHlf^lH TOFT ^l"
^T?rn^ 4>ici'!<i^(h i^r^<i

★ ★ ★
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